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THERMODYNAMICS & I.C. ENGINES
fauifa v 'fﬂqﬂ%] [m %70
Time allowed : Three Hours] [Maximum Marks : 70

Pz (i) ¥R I AT 8, sy 7 @ st ula & IR & [
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) T F & T AT ) AR T 7§ Hi |
Solve all parts of a question consecutively together.
(iii) FF ¥ %) 79 98 & T FA |
Start each question on fresh page.
(iv) ﬁﬁwﬁﬁmﬁ##@ﬁﬁmwﬁm? /

Only English version is valid in case of difference in both the languages.

1. () e e afvfva R |
Define Enthalpy.
Gi) e o e rarwenatt i AT |
Explain various stages of steam.
(i) Fom § Sfider St vl H THEET |
Explain necessity of engine cooling.
(iv) SraeRH qea IS TR 7
What is equivalent evaporation in boiler ?
(v) e W I GRS |
Explain Brake power. (2x5)

2. () s o o wEr & 3 SR A HTETOe] S A |
Describe the working of Benson boiler with neat sketch. :
(i) Eertr et fRmfaty w wEeEe |
Explain the working of fusible plug. (8+4)
(1of 4) P.T.O.
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3.

e SR & wier 3§ Fefeiad gree Jifa fel
WIS 1 @9d = 250 kg

T 1 HEAR TH = 29800 ki/kg

afeya St 1 HEAT = 2000 kg

9759 1 = 11.5 bar

19 Y I5hal B = 0.95

THOT A &1 I9HH = 34 °C

STl I :

(a) g9

(b) ST O

(c) g g&ar

The following observations were made in a boiler trial :
Coal used = 250 kg

Calorific value of coal = 29800 kl/kg

Water evaporated = 2000 kg

Steam pressure = 11.5 bar

Dryness fraction of steam = 0.95

Feed water temperature = 34° C

Determine :

(a) Equivalent evaporation

(b) Factor of evaporation
(c) Boiler efficiency 12)

(i) 3 o hl 91 T ST S G 1 w1 AT |
Derive an expression for air standard efficiency of Brayton cycle. .
(i) 3R Eo1 & Fffenton i EHHTE |
Explain the classification of L.C. engines. (6+6)
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(ii)

(i)

(i)

(i)

T 92 TeATTHY Hfie i 9o HIf |
Explain single stage reciprocating compressor.

o 1 wEwe & fRr g gen =% A9 tam i wrEwved S @ | '

Explain the working of constant®pressure open cycle gas turbine with sketch. (6+6)

Tq: W Uge 59 o ToTg a1ed Aame i &t e |
Explain valve timing diagram of four stroke petrol engines.
HIYTO et hit 71 Hand § ¢

What are the limitations of simple carburettor ? (8+4)

FSTIerR) 3 werm Foram ) wwe |

Explain First Law of Thermodynamics.
ITEE 91 o Sitaer o fafte faftgt =6 avis R |

Explain various methods of cooling in I.C. engines. (4+8)

ﬁwmﬁwvﬁﬁ!ﬁaq

Write notes on the following :

(i) AT Te uEweAtea orend

(i)

Intensive & Extensive properties.
STACE FI1 & TT FHoAt W™ T

Energy balance sheet of I.C. engines.

(iii) RIS ITETEH

Boiler accessories. (4x3)




